
2024

AP
®

 Macroeconomics
Sample Student Responses  
and Scoring Commentary
Set 1

© 2024 College Board. College Board, Advanced Placement, AP, AP Central, and the acorn logo are registered 
trademarks of College Board. Visit College Board on the web: collegeboard.org.

AP Central is the official online home for the AP Program: apcentral.collegeboard.org.

Inside: 

Free-Response Question 2

	R�	 Scoring Guidelines 

	R�	 Student Samples 

	R�	 Scoring Commentary 



AP® Macroeconomics 2024 Scoring Guidelines  

© 2024 College Board 

Question 2: Short 5 points 
 

(a)  Calculate real GDP in Louland in year 2 as 900,000 and show your work. 

Real GDP =  
Nominal GDP
GDP Deflator

× 100 =
1,035,000

115
× 100 = 900,000 

1 point 

(b) State that the demand for money would increase and the nominal interest rate would 
increase. 

1 point 

(c) State that the standard of living of the average citizen in Louland decreased from year 1 
to year 2 and explain that the real GDP per capita in year 1 was 800 and the real GDP per 
capita in year 2 was 750. 

1 point 

(d) State that the inflation rate from year 1 to year 2 was 15%. 1 point 

(e) State that real wages decreased and explain that nominal wages increased by less than 
the inflation rate (10% < 15%). 

1 point 

 Total for question 2 5 points 
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Question 2 

Note: Student samples are quoted verbatim and may contain spelling and grammatical errors. 

Overview 

The question examined students’ ability to calculate economic indicators such as real GDP, real GDP 
per capita, and inflation; to interpret those values; and to explain their effects.  
 
The question begins by providing hypothetical data for the country of Louland, which includes 
nominal GDP in year 1 and year 2, population in year 1 and year 2, and the GDP deflator in year 2. 
Students are told that the base year is year 1. 
 
In part (a) students are asked to calculate real GDP in Louland in year 2 and to show their work.  
  

In part (b) students are asked how the change in real GDP from year 1 to year 2 would affect the 
demand for money and the nominal interest rate in year 2.  
 
In part (c) students are asked if the standard of living of the average citizen in Louland increased, 
decreased, or remained the same from year 1 to year 2 and to explain using numbers.  
  
In part (d) students are asked for the numerical value of the inflation rate from year 1 to year 2.  
 
Finally, in part (e), students are asked what happened to workers’ real wages from year 1 to year 2 if 
nominal wages increased by 10% during this time and to explain their response.  

Sample: 2A 
Score: 5 

The response earned 1 point in part (a) for calculating the real GDP in Louland as 900,000 and 
showing the work. The response earned 1 point in part (b) for stating that the demand for money will 
increase and the nominal interest rate will increase. The response earned 1 point in part (c) for 
stating that the standard of living of the average citizen will decrease and explaining that real GDP 
per capita decreased from 800 to 750. The response earned 1 point in part (d) for stating that the 
inflation rate from year 1 to year 2 was 15%. The response earned 1 point in part (e) for stating that 
real wages decreased and explaining that nominal wages increased by less than the inflation rate. 

Sample: 2B 
Score: 3 

The response earned 1 point in part (a) for calculating the real GDP in Louland as 900,000 and 
showing the work. The response did not earn the point in part (b) because it states that the demand for 
money will decrease, and the nominal interest rate will decrease. The response earned 1 point in part 
(c) for stating that the standard of living of the average citizen will decrease and explaining that real 
GDP per capita decreased from 800 to 750. The response earned 1 point in part (d) for stating that the 
inflation rate from year 1 to year 2 was 15%. The response did not earn the point in part (e) because it 
does not explain that real wages decreased because nominal wages increased by less than the inflation 
rate. 
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Question 2 (continued) 

Sample: 2C 
Score: 2 

The response earned 1 point in part (a) for calculating the real GDP in Louland as 900,000 and 
showing the work. The response earned 1 point in part (b) for stating that the demand for money will 
increase and the nominal interest rate will increase. The response did not earn the point in part (c) 
because it states that the standard of living of the average citizen will increase. The response did not 
earn the point in part (d) because it states that the inflation rate from year 1 to year 2 was 29.375%. The 
response did not earn the point in part (e) because it states that real wages will not change.  
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